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〚[S [NP [N Kaline]][VP [V is][NP [D a][N [N [A gray][N cat]][PP [P in][NP [N Texas]]]]]]]〛

= 〚[VP [V is][NP [D a][N [N [A gray][N cat]][PP [P in][NP [N Texas]]]]]]〛(〚[NP [N Kaline]]〛) 






FA

= 〚[V is]〛(〚[NP [D a][N [N [A gray][N cat]][PP [P in][NP [N Texas]]]]]〛)(〚[NP [N Kaline]]〛)    






FA

= 〚[V is]〛(〚[D a]〛(〚[N [N [A gray][N cat]][PP [P in][NP [N Texas]]]]〛))(〚[NP [N Kaline]]〛) 
 






FA

= 〚[V is]〛(〚[D a]〛(〚[N [A gray][N cat]]〛(〚[PP [P in][NP [N Texas]]]〛)))(〚[NP [N Kaline]]〛)
  






FA

= 〚[V is]〛(〚[D a]〛(〚[N [A gray][N cat]]〛(〚[P in]〛(〚[NP [N Texas]]〛))))(〚[NP [N Kaline]]〛)
  






FA

= 〚[V is]〛(〚[D a]〛([λx∈De . 〚gray〛(x) = 1 and 〚cat〛(x) = 1](〚[P in]〛(〚[NP [N Texas]]〛))))(〚[NP [N Kaline]]〛)





PM

= 〚is〛(〚a〛([λx∈De . 〚gray〛(x) = 1 and 〚cat〛(x) = 1](〚in〛(〚Texas〛))))(〚Kaline〛)









NN

= [λx∈De . x]([λf∈D<e,t> . f]([λx∈De . [λx∈De . x is gray](x) = 1 and [λx∈De . x is a cat](x) = 1]([λx∈De . [λy∈De . y is in x]](Texas))))(Kaline)
TN

= [λx∈De . x]([λf∈D<e,t> . f]([λx∈De . [λx∈De . x is gray](x) = 1 and [λx∈De . x is a cat](x) = 1]([λy∈De . y is in Texas])))(Kaline)

= [λx∈De . x]([λf∈D<e,t> . f]([λx∈De . x is gray = 1 and x is a cat = 1]([λy∈De . y is in Texas])))(Kaline)

= [λx∈De . x]([λf∈D<e,t> . f]([λx∈De . x is gray and is a cat]([λy∈De . y is in Texas])))(Kaline)

= [λx∈De . x]([λf∈D<e,t> . f]([λy∈De . y is in Texas] is gray and is a cat))(Kaline)

= [λx∈De . x]([λf∈D<e,t> . f]([λy∈De . y is in Texas and is gray and is a cat]))(Kaline)

= [λx∈De . x]([λy∈De . y is in Texas and is gray and is a cat])(Kaline)

= [λy∈De . y is in Texas and is gray and is a cat](Kaline)

= Kaline is in Texas and is gray and is a cat


